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1) Which following code does not match

Writer - Books
1) Sadashiv - Amer Kavya Vanshawali
2) Jagpwan - Ajptodaya
3) Nayanchandrasuri - Hammir Maha Kavya
4) Karam Chand - Vanshotkirtan Kavyam
) @ e gafem =8 87
Gteen - Ll
1) ey - 9T T ST
2) W - IR RIES
3) o o gl - I T
4) &M GE - dgfienida &

2) Ram Saikashm (chert) and quarte named stone age tools are found in :-

1} Kalibanga 2) Hadappa
3) Balakot 4) Aahar

2) 7y Hapign ol WS AT UTIORERE ST 9T FU ¥-
1) HIE ‘ 2) T
3) ST 4) HES

3) The ‘Raj Vallabh Mandan’ is related to :-

1) Building related to temple construction

2) Related to the construction of idols of god

3) Related to construction of residential building
4) Construction of highway

3) ‘TG 9IS W 9N g

1) "R FRal % o 4 0y el @ qf frfr &
3) Py et gt & freafor & 4) e Frfr

4) Which Rajput rular died in Burhanpur?
1) AjitSingh 2) Kam Singh
3) RaiSingh 4) JaswantSingh

4) R TR W B g AR F g7

) e i 2 o fin

3) Y fiE 4) woe e
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5) The temple of ‘Muchala Mahaveer’ is located in :-

1) Ganherav 2} Delwara
3) Nathdwara 4) Mainal
5) ‘goen AEER Afew R B
1) aremE 2) &FETE
3) TUERT 4) B
6) Which fort was named ‘Khairabad’ upon conquest by Ala-ud-din khilji?
1) Chittorgarh 2) Ranthambhor i
3) Siwana 4) Lohagath
6) srsEM faml 3 Bk g @ ffm &t oo aW &ew wan?
1) Frelrg " 2) 7o
3) Ramon 4) BTG
7} Who composed the Jugalman Charitra?
1) Dadu 2) Ramprasad
3) Ramcharan 4} Kirishnadas Payhari
7) ‘gemis afty & @ e al?
1) &g 2) IS
3) THE 4) FOER YAEH
8) The ‘Dugari’ style of pairiting is associated with :-
1) Bikaner 2) Nathdwara
3) Jodhpur 4) Bundi :
8) ‘gl Rrwdiel’ w1 way ¥
1) d@eY 2) HETI |
3) g | 4y !
9) With which area are the dyleets ‘Toravati’, ‘Katheda’, Rajavati associated with?
1) Harroti 2) Mewati :
3) Dhundhari - 4) Malwi B
9) diradl, Fde AT QR @ Ty w8 § &7
1) wEwn 2) &
3) G 4) wrere 14
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10) Whatis ‘Dhingoii’?
1) One of the fasts observed by woman

2) Name of Orpament -
3) Name of dance
4) Name of marwari game

10} “grielr” = 87
1) P = ga 2) SYEOT H 9
3) T H AR 4) AETE @ @t A
11) The composer of ‘Rao Jaitsi-ro. chhand’ is :-
1) BeethuSuja 2) Kanhaiyalal Sethiya
3) Pratap Singh 4} DurgaDas
11) g St @ w3 TR B
1) g T 2) weamm Afear
3) v fife 4) gmerE
12) The temple of ‘Bharmani Mata’ is situated in ;-
1) Dholpur 2} Udaipur
3) Kota - 4) Baran
12) “qempofy e a1 A Raa -
D) g 2) AR
3) @rer 4y =i
13) In which conspiracy case was Pratap Singh Barahath sent to prison?
1) Banaras Conspiracy 2) Lahore Conspiracy .
3} Alipur Conspiracy 4} Meruth Conspiracy
13) yam e anes =i fow vsaa &9 & a8a oW Sen En?
1) T S 2) WER wggN
3) ST WA 4) WG wEIA
14} Who founded the ‘Marwar Hitkarini Sabha’?
1) Jainarayan Vvas 2) BhupSingh
3) Manikya lal Verma 4) Surajmal
- 14) arearg Raewiioll @ &1 7o e fean-
1) SEANET = 2) 4 e
3) v e Al 4) g
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15) The Paropkarini Sabha was established in :-

1) 1893 AD 2) 1883 AD
3) 1895 AL 4) 1885 AD
15) “‘qerqemittelt @’ & e g
1) 1893 %, 2) 1883 &,
3) 1895 €. 4) 1885 %,
16) Who was appointed the “Maharaj Pramukh’ of ‘Brahat Rajasthan’ ?
1) Jaswant Singh 2) Udaibhan Singh
3) Bhupal Singh 4) Bheem Singh
16) gga T & qEnr WoE f6Y g -
1) g ’ie 2) seawE Rig
3) e g 4) ¥ [
17) Who established the ‘Hindi Vidhya Peeth’ in Udaipur?
1) Janardanrai Nagar 2) Ghan Shyamdas
3) Vijay Singh 4) Kripal Singh
17) seay? 4 ‘R fogadis’ @ wne e @0
1) SHIEA T AR 2) UM T
3) fora e 4) puw T
18) ‘Jasma Odhan’ is related to which art of play?
1) Bhawai 2) Gawari
3} Rammat 4) Rasdhari
18) o1 Si=wr’ & ey g e e A &7
1) warg 2) Tl
3) v 4) T
19) On behalf of Bikaner state who signed the treaty of alliance with the British in March 18187
1) Deendayal Sharma 2) Kashinath Ojha
3) BadriPrasad Sharma 4y Tejpal Mathur
19) dipre owa & oi & W 1818 ¥ ofiil & WY wems Ui W ewmer faad e
1) dFeam® el 2) gy i
3) g §E 4) TSI HIYR
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20) The ‘Gentleman agreement’ is related to =

1) Jaipurriyasat 2) Jodhpur rivasat

3) Mewarriyasat 4) Jhalawar riyasat
20) et Wit 1 T 7R -

1) wayy Ramag 9 2) gy Rearaa 8

3) Hare Rama 1 4) BT fama 9

21} Districts adjoining the international boundary of Rajasthan are -
1) Barmer - Jaisalmer - Churu - Hanumangarh

2) Ganganagar - Bikaner - Jaisalmer-Barmer

3) Barmer - Jaisalmer - Jodhpur - Bikaner

4) Barmer - Jolore - Bikaner - Ganganagar

21) vy & i dd e e E -
1) SIEHE - SR - 5 - G
2) TR - ST - JEEAT - S8R
3) HIEHT - SEORR - YR - B
4) SIBHT - ARR - §HAT - TR
22) Length of Aravalli mountain range within Rajasthan territory is approximately -

1) 692 kilometre 2) 710kilometre
'3) 652kilometre 4) 550kilometre
22) T -8 § SOEe Gdaee & @ e ey 27
1) 692 famimiet 2) 710 Reeinirey
3) 652 FEAmeT 4) 550 fpamre
23} “‘Uparmal’ forms part of which one of the physical divisions of Rajasthan ?
1) Southem mountainous 2) South-eastern Plateau
3) Karauli Plateau 4) Nagour Plateau
23) Ty e % e Hifve sew & e #7
1) sl ot 2) wRogt wew
3) Bl oW - 4) ApiiR TR

24) Identify the correct sequencing, from West to East, of the lakes of Rajasthan -
1) Pachpadra-kailana-Balsamand-Rajsamand

' 2) Kailana-Balsamand-Rajsamand-Pachipadra

3) Rajsamand-Balsamand-Kailana-Pachpadra

4) Kailana-Balsamand-Pachpadra-Rajsamand
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24) o F S o ulew ¥ o @ el gd %9 gemivg -
1) 999EY - HEAET - SEAHE - A
2) ST - GRS - TSEHE - gE9eE
3) AT - TEEHE - HIAEET - YEYel
4) FHEAFT - SAGEE - GEYEY - TAEHE
25) Which s the longest river flowing totally within Rajasthan territory?

el

B

1) Mahi 2) Banas
3) Chambal ‘ 4) Limi
25) o - § QOf ®UU 8 ATl 999 @l 6 S 7
1) =rdy 2) T\
3) g ' " 4) &
26) Districts in Rajasthan recorded highest variability of average annual rainfall -
1) Alwar, Bharatpur 2y Ajmer, Tonk '
3) Jaisalmer, Barmer ' 4) Banswara, Dungarpur
26) yoreyr H Area aiftfe aut o weifyes diEdiea s o g @ E -
1) R, AT 2) AR,
3) Srawiy, AR 4) digarE, FRY
27) Whatis the concrete solution of soil salinity and alkalinity 7
1) Rock phosphate treatment 2} Ureatreatinent
3) Gypsum treatment 4) Bentonite treatment
27) frd ot weorar od sriha @ 3 IUYN R/ P
1) U wihe 9w 2) gfear qiem
3) Rrem g 4) S<FEREE Hew
2R8) Forests extend over what percentage of total area of Rajasthan (March, 2011)?
1) 9.49 2) 9.55
3) 10,21 4) 7.68
28) yroTeens & T SAGE & o WIS YR WOaW o R ¥ (A, 2011)7 3
1) 9.49 2) 9.55
3) 1021 4) 7.68
29) Major soyabean producing agroclimatic zone of Rajasthan is - 3
1} Humid Southem plain 2} HFood Prone Eastern plain
3) Humid South-Eastemn plain 4) Semi - arid Eastern plain
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29) vmer # 9eT QRN SOEE $iY - Jdar @S ¥ -

1) s gfl e 2) 91 T TE) HEE
3) g &Rt - & fEE 4) o - g5 7ot Fa
30) Where in Rajasthan is the Central Camel Research Institute established by Indian Council of Agricultural
Research? :
1) Kolayat 2) Joad - Beed
3) Suratgarh 4) Ramgarh
30) wrorerm § wreda R wgEuE 9Rvg g AT Se FEE TR HE i fhar war &2
1) Hramad 2) AR
3) G { 4) T
31) How many deer parks are %cre in Rajasthan?
s 2)6
3) 4 4) 7
31) Ty § fapa g §7
15 2) 6
3) 4 4) 7

32) Identify the correct sequencing, from South to North, of wildlife Sanctuaries of Rajasthan -
1) Jamwa Ramgarh - Sawai Man Sing - jawahar Sagar - Bhainsrorgarh

2) Jamwa Ramgarh - Jawahar Sagar - Bhainsrorgarh - Sawai man Singh
3) Sawai Man Singh - Jamwa Ramgarh - Bhainsrorgarh - Jawahar Sagar
4) Bhainsrorgarh - Jawahar Sagar - Sawai Man Singh - Jamwa Ramgarh

32) 7o & SR STHIRG! & afeie 9 ST Bt oY 9l %y ysaia?
1) T TR - FAE AT - WETeY 9K - $9ieTg
2) WY TG - FERY 9 - Suee - 99 SERE
3) HAE AMRE - THE TG - HEEg - Wt anee
4) HGAeE - FATE AT - WEIE AT - AT G

33) What is the ultimate irrigation potential of Indira Gandhi Canal project in Rajasthan?

1) 14.10 lac hectares 2) 15.17 lac hectares

3) 16.10 lac hectares | 4) 19.63 lac hectares
33) o § i el wev ofdiorn & awr e s Bt §7

1) 14.10 @G TR 2) 15.17 g ¥RaR

3) 16.10 F1@ TR 4) 19.63 W@ Tatay
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34) Meja dam has been built on which river of Rajasthan?

1) Kothari 2) Mansi
3} Khari 4) Parwati
34) #om gt %1 Mt worem 3 e T @ e wr #7
1) &R 2) W
3 @d 4) arddi

35) According to Ground Water Survey 2011 what is the number of super critical dark zones in Rajasthan
exploiting more than 100 per cent of their ground water?

D 115 2) 172
3) 120 4) 95

35) = 2011 % - GIHT B HTEAN TR H 39 -9 61 100 9fosrd § aifere St amt gue pdiaw
s1b W o dem fhadr 37

1) 115 2) 172
3) 120 4) 95
36) Inwhich districts of Rajasthan is the slurry caunsing irrepirable loss to ecosystem and soil fertility as well?
1) Rajsamand and Udaipur 2} Ajmerand Churu
3) Jalore and Barmer 4) Nagaurand Bikaner
36) e (wd) o % T Rl A offRafadt qur i @ sdw ot AR @ ol ey odm 6 &7
1) e T Seag 2) FHW T GH
3) R 19 9IS 4) IR TF dEER
37) Whatis the root cause of land pollution in Indira Gandhi Canal command region?
1) Salinity and alkalinity of soil 2) Soil erosion
3) Disorganised drainage 4) Polluted ground water
37) gfeeyr et wev @urvs &3 § UGNV 6T GH BT RA 7
1) s o wreotoar 9 adar 2) R} sravE
3) Rida e 4) wafom g
38) Maharaja Agrasen road route in Rajasthan forms part of -
1) Express Way 2) MegaHighway
3) National Highway 4) Super National Highway
38) T H WEWT AT e AR 6T E -
1) U F w 2) " ERA W
3) AT BEY & 4) GUL AT TS B
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39) Which of the following National Highways passing through Rajasthan possesses shortest length within

state territory?

1) Natonal Highway No. 76 2) National Highway No. 65

3) National Highway No. 12 4) National Highway No. 11
39) wrene @ o A Fefafas ot § § o diw gl e a=E g ant e 27

1) T et e 76 2) TR TR T 65

3) TR IEE G 12 4) T womEt de 11
40) Where are the major lignite coal deposits located in Rajasthan?

1) Palana, Kapurdi, Sonu 2} Palana, Augucha, Merta

3) Kapurdi, Merta, Sonu 4} Kapurdi, Merta, Palana
40) v § e ST & TgE ey FE few 37

1) WEIF, HYTE, Y 2) WA, ST, fEr

3) B, AT, WL 4) BYLE, S, TAA
41} Osteology is study of -

1) Bones 2) Joints

3) Muscles , 4) Heart and blood vessels
41) “gifezdieiely s § -

1) ofeerdi 2) st &

3) AR B 4y g ud @ el e

42) Holes of bones through which blood vessels or neuron passes is known as -

1) Fissure 23 Foramen
3) Smus 4) Spine
42) st % s Fd & vaa Akl an dfend o €, Feard § -
1) fper S 2) wEEA
3) R 4) wmEd
43} The power house of cell is known as-
1} Endoplasmicreticulam 2) Mitochondria
3y Golgibody 4) Ribosome
43) ifyr @1 s weam ¥ -
1) STyEEl St 2) WEERBIEAT

3) el i - 4) TEEEm
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44) Vertebral column formula of cattle is -

1) C'.' ThES Lﬁ SS CO}S-XB 2) C'.' Th!s Lﬁ SS Col5-2i

3) C’? Th13 L’? S3 C020—23 4) C? T'hli Lfs—? Sa Colfki&
44) HrEn FH Uit A FIEF T F GAE -
1) C,Th,L,S,Co,., 2) C,Th, L S Co,,
3) C? Th%3 L? S3 COZ(}-ZE) 4) C'i’ Thl:ﬁ L6—7 34 COIG—!B
45) Which bone is not found in fore limb -
1) Scapula 2) Humerus
3) Metacarpals 4) Metatarsals
45) omr-urg # W@ wE 9 A oty ¥ - o
1) WY 2) grH
3) e 4) HerErEe
46) True statement is -
1) Right lung is bigger than left lung 2) Leftlungis bigger thanright lung
3) Bothlungs are equal in size 4) Both lungs have equal lobes i
46) 9d YA T
1) & S &t go § St HegT 991 e ¥ f
2) = HHS-@ GO | A S e dar &
3) A G R R E |
4) & Hedl # wvee wiftrend drd &
47) A tendon connects -
1) Muscle tomuscle 2) Bonetobone
3) Muscle to bone 4) Ligamentto bone
47) ‘gus’ T § -
1) wiEuE g aeash 2) ifier 9 Sy
3) wigush & s ) 4) v 9 Hhky
48) Inthe fbi}_owing which is not a part of digestive system -
1) Pharynx 2) Spleen
3) Anus ‘ 4) Mouth
48) fpafafge § | 918¥ % org=-a3 & 9FT 98 8 -
1) e _ 2)
3) T 4) ¥
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49) Presence of hemoglobin in urine is known as -

1) Hematuria 2) Hemoglobunaria
3) Hemolysis 4) Pyurea
49) 7z ¥ Rerafa i soRafy seard § -
1) Regha 2) Fesrairgfrar
3) Redemfa 4) R
50) pH of blood is generally -
1) 68 2) 7.0
3) 74 4) 6.4
50) % %1 pH TF: 81T ¥ -
1) 6.8 2) 7.0
3) 74 4) 6.4
51) Nefron is the structural and functional unit of -
1) Liver 2) Kidney
3) Lungs 4) Testes
51) S geaareTd U9 hareE 59 E -
1) %A @ 2) 9% @
3) WS &l 4) g
52) When fernale is in heat the hormone became most active and effective is -
1) Progesterone 2) Oxytocin
3) Testosterone 4) Oestrogen
52) wrer & aE () # e W otfie wikg wd sMEeel 8 A e -
1) WRERM 2) i
3) TR 4) FERT
53) The approximate age of puberty in goat is -
1) 4-12 months 2) 6-18 months
3) 18-24 months 4) 10-24 months
53) gd § drawrew @ srpnf ong o ¥ -
1) 4-12 H® 2) 6-18 Trg

3) 18-24 WiE 4) 10-24 7E
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54) Qestrous cycle can be divided into -

1) 2 parts 2) 3parts
3} 4 part 4) 6parts
54) we-wgs @Y sTer S /EAl ¥ -
1) 2 9rii 2) 39 §
3) 4w 4) 69Tl |
35) Insulinis secretedin -
1) Pancreas 2} Stomach
3) Liver 4) Salivary glands
55) ggfer &1 EE g 8 - .
1) e H | 2) sy §
3) aga | 4) w ufg)

56) During pregnancy -
1) Levelof estrogen became low whereas level of progesterone became high
2) Level of estrogen became high whereas level of progesterone became low
3) Level of both estrogen and progesterone became same
4) Level of both estrogen and progesterone became miniroum

56) e & GO -
1) TET B 'Y HY A9 % MR & WY oY w8 €
2) TEIAA B W fn e b O 1 ' a9 A ¥
3) TR Ut IR A @1 @R 9 dre
4) N U IR S B W) A B §
57) According to animal census 2012 Rajasthan has India’s total percentage of camels -

1) 62 2) 712
3) 82 4) 92
57) qgErerr 2012 % SRR TR | 9RG & W Hel & vhava € -
1) 62 2) 12
3) 82 4) 92
58) Showing any work by doing it, is called
1) Demonstration 2) Campaign

3) Rally 4) Contact
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58) fepdy oft wrRf @1 b Ruart # wed -
1) wEsH 2) st
DT ¢
59) Largest state level animal fair in Rajasthan is -
1) Gogameri animal fair 2} Chandrbhaga animal fair
3) Ramdevraanimal fair 4) Pushkaranimal fair
59) v | gEd 997 T WY UgEE © - |
1) TSl TgEer 2) TEHFT UgHE
3) THER GgAE 4) T U
60) Audioaidis-
1) Radio 2) Television
3} Cinema 4} Allof the above
60) o= 9eE ¥ -
1) A 2) &t
3) R 4) STIH
61) Extension material on a single paper is known as -
1) Pamphlet 2) Leaflet
3) Folder 4) Bulletin
61) b g% G FER A ee ¥ -
1) ¥ | 2) Wieere
3) WieEt 4) gafed
62) Inextension education number of steps is -
1) Three 2) Four
3) Five : 4) Six
62) o f3rerr % wror B € -
) aF 2) =W
3) g 4) @

63) For the success of any program /scheme it is necessary-

1) Wider publicity 2) People participation
3) Both(l)and (2) 4) None of the above
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63) ol B / AF B g%Ear & R SaYTE ¢ -

1) =% wEr 2) S-gErT
3) (1) TQ2) 4) THH | G B W T
64) According to animal census 2012 maximum number of cattle are in -
1) Udaipur district 2) Nagourdistrict
3) Jodhpur district 4) Bikaner district
64) ggpUET 2012 % AR TaiRRE WA ® -
1) seayy e | 2) AR o A
3) wiuge foer | 4y deer e |
65} Disease occurin both male and female animals -
1) Ketosis 2) Milk fever
3} Mastitis 4) Brucellosis
65) gz 7 W 7 S mrer & gy o g I ¥ -
1) feiem 2) e BrEr
3) Aerfen 4) R
66) A contagious disease which spread in a specific manner in large number of animals of small area is -
1) Endemic disease 2} Enzootic disease
3) Epizootic disease 4) Panzootic disease
66) Te deprees I o AT BIC & § ugelt 1 9 e § e 0% | Yo & -
1) w2 I 2) uwifess I
3) fusfes 4) Uwffes
67) Gingivitis is -
1) Inflammation of tongue 2) Inflammation of gums
3) Inflammation of ears 4) Inflammation of eyes
67) ‘Rifvrmfew’ & -
1) 9w & gom 2) WgE g
3) &M H gaA | 4) %ira § goe
68) Disease caused by disturbance in metabolism of carbohydrate and volatile fatty acid is -
1) Milk fever 2} Ketosis
3) Anemia 4} Pica

22“. 16




1) fyep wiaw
3) weifEr

1) Hemorrhagic septicemia
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68) FEEESE T TWEHT TS T F TR Y Bl A W BN g A ® -

2) Fraitm
4) TrEeHl

69) Bleeding through natural holes/openings such as nose, mouth and anus is a specific symptom of -

2) Black Quarter

3) Anthrax 4) Tetanus

69) stéi % wrgles s F W%, He 7 T @ T gy @av ¥ -
1) T 2) ST GER
3) T H 4) feom @

70) Black Quarter is caused by -
1) Clostridium chauvoei
3) Pasturella multocida

70) FEt gER M H WG € -
1) FArEiEem 9y
3) TG AT

71) Hydrophobia is main symptom of -
1) Rabies
3) Cow-pox

71) g E v -
1) & @
3) i&-viFd w

2) Clostridium tetani
4) Brucella abortus

2) wAdRET R
4) gHET A

2} Rinderpest
4) Anaplasmosis

2) G I E/
4) TSR Wi

72) Which of the following disease is not a blood protozoan disease?

1) Anaplasmosis

3) Theileriosis

72) feifefea § ¢ v oahE dm Al b -

1) AT
3) grEeRaRE

2} Babesiosis
4) Salmonellosis

2) afeRaiw
4) GRAMTIRE

73) Fracture with damage of surrounding muscles and blood vessels is -

1) Simple fracture
3) Partial fracture

2) Compound fracture
4) Single fracture

2-@
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73) ra-arT & AR g e el & afy & 9rer B 9w B © -

1) foraer Sy 2) HUEE S
3) uishm o 4) fme e
74) Autoclave works on the principle of -
I) Dryheat 2) Pasteurization
3) Steam under high pressure 4) Feezing
74) ‘SieEE & B ® ber § -
1) 9% a9 2) TR
3) Sed &g Ay 4) fedretor
75) ‘Lignocaine’ is -
1) Antibiotic 2) Antiseptic
3) Anesthesia 4} Sterilizer
75) ‘FereieT ® -
1) TREEeS 2) udiies
3) Mvaas 4) fodsmam
76) Which of the following is not a non-absorbable suture material-
1) Silk wormgut 2) Catgut
3) Linen 4) Silk thread
76) frifefan o | smayie 99w v T -
1) o o e 2) Hee
3) RRE 4) Y9W ® 4T
77) Appropriate age of debudding in calf is -
1) 4-10 days 2) 4-6 months
3) 4-6 weeks 4) More than 6 months
77) gesi # Nepier ¥ ougE oy § - '
1) 4-10 &= 2) 4-6 TTE
3) 4-6 §<TE 4) 67E ¥ e
78) ‘Trocar Cannula’ instrument is generally used in cattle for the treatment of -
1) Dystocia 2) Tympany
3) Oesophageal obstruction 4) Traumatic Reticulitis
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78) ‘EYBY HIAT TYHIO B ST TR 997 J 39w v fear s ¥ -

1) =it & 2) ATHT &

3) SHEE § wEEE 4) THfp Yegomifed &
79} ‘Docking’ means -

1) Removal of hairs 2) Removal of homn

3) Removal of hooves 4) Removal of tail
79) =ik | sl § -

1) = @' 2) §FT W

3) G @A 4) I8 Fe
80) The wound produced by bullet or sharp pointed weapon -

1) Lacerated wound H 2) Punctured wound

3} Incised wound 4) Contusion
80) =it o7 fm % I SRER  dH A A § -

1) fedof wma 2) sty g

3) B a& | 4) e e
81) Crude fiber in concentrate is generally -

1) 24% 2) 20%

3) 18% 4} Lessthan 18%
81) T § T &E WREY 8 -

1) 24% 2} 20%

3) 18% : 4) 18% & &M

82) Correct statement is -

1) Inroughage crude fiber is more than 18% and TDN is less than 60%.

2) Inroughage crude fiber is less than 18% and TDN is more than 60%.

3) In concentrate crude fiber is more than 18% and TDN is more than 60%.

4) In concentrate crude fiber is less than 18% and TDN is less than 60%.
82) Tl e & - |

1) oW F %E EEa 18% 9 sfts vt TON 60% & a9 e ¥ |

2) 9 ¥ T BEE 18% § &9 a7 TDN 60% § aiftres & &

3) &9 ¥ % SR 18% ¥ f¥d war TDN 60% & o1ite & & |

4) TH H %S BEEK 18% ¥ &9 741 TDN 60% § &% €y ¥ |
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83) Calories produce by complete oxidation of one gram fat is -

1) 4.1 K.Cal 2) 93 K.Cal.
3) 2.25K.Cal. 4) 6.1 K.C: . B
83) wep W9 Tt % Ot SR | SR A el § -
1) 4.1 ot S 2) 9.3 fageir ey
3) 2.25 ey HEArd 4) 6.1 formr e
84) Leaves have maximum TDN -
i) Subabul leaves 2) Ber/Beri leaves
3) Khejri leaves 4) Neem leaves
84) waffirm TDN ot aferai 2 -
1) gage & uferd! " 2) 7 P wieEd
3) Te! @t ot 4) |\ # gkl
85) In preparation of ‘Hay’ moisture in dried green fodder should not exceed -
1) 60% 2) 40%
3) 30% 4) 15%
85) ¥ w Y # @ € =R & o ) W e T e AR -
1) 60% & 2) 40% G
3) 30%% 4) 15% 9
86) Ina good silage the conservation of feeding value of green fodder is -
1) 100% | ’ 2) 80-85%
3) 50% 4) 30-35%
86) UF IR UESW § & g &1 9wer qE g e & -
1) 100% - 2) 80-85%
3) 50% 4) 30-35%
87) Dried feed to be given to buffalo for per 100 Kg. body weight is -
1) lke. 2) 3kg
3) 5kg 4) 7kg.
87) dg i wfy 100 f.. o8 R W BY 9W 9Fg g9 SR & AEn -
D 1 B 2) 3 "
3) 5 RBam. 4) 7 ®B.a.
88} Enzyme which acts on starch and other carbohydrate ¢
1) Amylase 2) Lipase
3} Protiase 4) All of the above
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% 88) wrd td Iy FEIGIZEE YT AN S TN e ¥ -
§ 1) THEE 2) WY
) Sfer 4 Ioga wi
% 89) What percentage of formaline solution is used for cleaning of Animal Houses
1) 10-12% 2) 1-9%
3) 2-5% 4) 1-2%
89) ugrene & TEE & ford G @ e afte de/ee wm A €
1) 10-12% 2y 79%
3y 2-5% 4y 1-2%
90) How many poultry birds can be kept is deep litter system
1) 500 2) 1500
3) 1000 4) 250
90) € e gl § feast gt v 9y @ w6 §
1) 500 2) 1500
3) 1000 4) 250

91) Which vaccine is applied to a 5-7 day old chick

1} Marek’s disease 2) Ranikhet disease

3) Fowlpox 4) Bursal disease
91) 5-7 Rwt % Rl # & |1 S o S &7

1) avba et 2) TR af

3) GISH Qe 4) qHS Sl

92) Name of chemical which is use for chemical debudding of calves

1) Causticsoda 2) Potassinm Nitrate

, 4) Allof above
92)&@@%%@%%%%%@%%%%&%@6@!

3) Potassium Perms

1) wHfes @n 2) drelie wEee
3) dreferw oA 4) T &
93) Haemorrhagic Sgptimetma vaccine in cows is done is the month of
1) August-Septen 2) May - June

3) November~December

93) et & TGt e & R IR
1) s - foae
3) waw - R

4) March-April

2) WE - 9
4) ure - AU
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94) Farrowingis -
1) Actof Parturition of ewe
3) Actof parturition of doe

94) HET B -
1) 9= § sy & 9
3) =l § =t 2 s
95) Which Rajasthani breed of sheep has finest wool

2} Actof Parturition of sow

4) Act of Parturition of mare

2) [ardt § ey o ulthar
4) WE 4 =E % akEm

1) Chokla 2) Nali

3) Sonadi 4) Malpura
95) 7RI W Ed HEN S gl W & A ® -

1) =ree ' 2) T

3) Gl 4) W
96) What is daily requirement of water in camel is -

1) 100liters 2) 20-40liters

3) 60liters 4) 70liters
96) Bz i wRfeT Pt ey W oz B &

1) 100 e 2) 20-40 e

3) 60 ®iex 4) 70 dex
97) Number of chromosomes in cow is

1) 60 2) 62

3) 64 4) 54
97) Tt # o B S oy €

1) 60 2) 62

3) 64 4) 54
98) How many stages in metosis occur

1) 4 2) 5

3) 6. 4) 3
98) waT T # frat aaend S €

1) 4 2)5

3) 6 4) 3
99) Father of Genetics is

1} Johen mendal 2) Posture

3) koch 4) Jenner
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99) i % fame & -

1) o Hed 2) drEr

3) &g 4) IR
100) Breeding in full sister and full brother is known as

1) Linebreeding 2) Close breeding

3) Out crossing (Crossing) 4) Back crossing
100) &y vig ge=it  wors o 8 & . S &

1) @EF 95 2) TN U

3) 3iTee WA 4) ¥ w
101) In which breeding method are can produce a new breed

1) Out+crossing 2) Cross breeding

3) Inbreeding 4) Gradingup
101) &t uoe vai § 0 T Y o I &

1) e wifdm 2) wr fafEn

3) & TfEn 4) 3w o
102) Heretibility shows by which symbol

1) % 2) v

3) ¥ _ 4 @
102) eRfefaferds & fr Rt @ e &

1) x2 2) v

3) ¥ 4 @
103) In RNA nitrogen base uracil replaces which nitrogen base

1) Adinin 2) Guanine

3) Cytocine 4) Thymine
103) RNA # (uracil) g0 o AEEoM 99 & WM W e ¢

1) offe 2) vt

3) wrEEid 4y amdE
104) Who gave modal of DNA

1) Robartkoch : 2) Shenmark

3) BEvans 4) Watson-crick
104) DNA &1 #irger fam

1) ude &1 2) §E

3) gy 4) ared-is
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105) Which female has T-shaped uterus

1) Cow 2) Biich
3) Mare 4) Goat
105) & (1) e w1 wwisvr Rew Awr § R s §
1) T 2) e
3) diF 4) T
106} In which from following the cotyledon type of presents is not found
1) Mare 2) Cow
3) Goat 4) Sheep
106) o | & oo wifele=M TR &1 S 78 9=l IR §
1) it “ 2)
3) gl 4) %3
107) Female who never conceived is know as
1) Unipera 2) Nullipera
3) Primipera ' 4) Pluripera
107) e wiey o 4 mifa ot dnlt & weewh €
1) gHm 2) W
3) urHia 4) @i
108) In cow Bang’s disease is also known as
1} Brucellosis 2) Vibriosis
3) Trichomoniasis 4) Leptospirosis
108) Tt & F R i wed § |
1) gEmie 2) R ]
3) EEHATS 4) wrérmgifaa |
109) In Dog sitting type of dystocia are found
1) Forword extention of hind limbs 2) Backword extention of forelimbs
3) Head in between the forelimbs 4) All of above
109) e fafen fewdifemn 4 a1 Twd &
1) 9eg urEl &1 S WY TE 2) o wE & G P s S
3) for &1 o A 09 % g # e 4) 3udes T A
110) Hormone secrete from the corpus luteum is
1) Estrogen 2) ISM
3) Progesterone 4y 1I.M
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10) i wfeam 9 4 €9 9o emla &
1) sEeH 2) SE.EHGH (ISM)
3) SR 4) LM
111 Ldnger stage of Estrous cycles is
1) Di-estrous 2) Pro-estrous
3) Metestrous 4) Anestrous
111) 7295 o' g 7 oraen §
1) sE-gxd 2) W-ged
3) FegEd 4) g
112) For Artificial insemination a ministraw has how much semen
1 1.2ml 2) 05ml
3) 0.25ml 4) 1.0ml
112) Fhm mrism & ™ uw g | et @mm & wen el £
1y 1.2ml 2) 05ml
3) 0.25ml 4) 1.0mi
113) The study of source and identification of medicine is known as _
lj Pharmaco-dynamics 2) Pharmaco-kinetics
3) Pharmacognosy 4} Pharmacy
113) siaferdt & i T4 e % s ey o § o awd -
1) e st 2) wEE EEhees
3) wrEEEE 4) wEE
114) In prescription slip b.i.d means
1) Twiceinaday 2) Thriceinaday
3) Onceinaday 4) None of them
114) syar vl § G, o ad & - |
) Raddar 2) €1 ¥ fm A
3 RmAwmaw 4) & § BIE T
115) Medicine which are increase the salivation are known as
1} Stamachics 2) Stimulants
3) Sialogogues 4) Tonics
115) sirafref S smeemaw & ggr § - SEarl © -
1) e 2) Weed
3) AEErAE 4) Efvery
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116) In which part of prescription slip it is indicated that when and how to take medicine

'1) Superscription 2) Inscription
3) Subscription 4) Signature
116) guar gdf & fow wrr & 97 ey & & 6 ofiwell sw sim S el 8
1) g9 Ghi9H 2) T weF
3) ¥« BHeH 4) Frmar
117) Medicine which are relax the smooth muscles of uterus is known as
1) Tocolytes 2} Echobolics
3)‘ Aphrodisiacs 4} Diuretics
117) & oiraferat <ir s o1 Rl R o G el &, wewed € |
1) ErpieTEes " 2) geaifed
3) TR 4) e
118) Increase the Haemoglobin level in blood which medicine is used
1) Haemotinics 2) Haemostatic
3) Galactogogus 4} Coagulants
118) varr 3 Reviieelifaet a1 = wgry 3 fordt oy S oY ofraeft aivr & oft e # 4
1) fewfefes 2) REdE
3) AErTH C 4) ERiEEY
119) Best antidote for Snake Venom is |
1) Potassium Permanganate 2) Potassiumiodide
3) Potassium Nitrate 4} Potassium hydroxide
119) ©iy & STe< & 9gq sl uia A §
1) wrefirem swwee 2) dreREm srdEEs
3) HIefiEm Ege 4) dIeiEA BREEEEE
120) Which mineral compound given to animal for help in formation of Vit B ., 18 body
1) Ferric chloride 2} Sodium Chloride
3) Cobalt Chloride 4) Potassium Chloride
120) @ o o1g & A a9y @i &a § g ol 7 Refm @-12 % Fafo § gerar fe & -
1) HivE aEs 2) difeaw FENES
3) HERE FRES 4) drefiRM FRES
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